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ENGLISH

In the following Question Nos. 26 & 27. Fill
in the blanks with appropriate modals :

26. I coeeveeinannnn. rather die than beg.

27. Rajiv ................. speak five languages.
(A) will
(B) should

& may

(D) can.

In the following Question Nos. 28 & 29, Find

the correctly spelt words :

28. (A) Compition
(B) Competion
(Q)- Competition

(D) Compitition.

29. (A) Receve
(B)* Receieve
(C) Receive
(D) Recieve.

Question No. 80. Fill in the blanks with
suitable connectors .
30. He is poor .....cc......... he is honest,

(A) since

(B) as

(C) but

(D) until.

In the following sentences Question Nos.
81 & 32 : Choose the best option to replace the
underlined word/phrase so that the meaning/

sense of the sentence remains unchanged :

31. There is a plenty of vegetation in the

forests of Himachal Pradesh :
(A) Dearth

(B) Plethora

(C) Variety

(D)' Abundance.

32. The final judgement in the case came

after fourteen years of a long trial.
(A) Verdict
v
(B) Argument
(C) Evidence

(D) Witness.

J-2325 Series_B (5) P.T.O.



In the following sentences Question Nos.
383 & 34 : Choose the best option to replace the
underlined word/phrase so that the meaning/
éense of the sentence is reversed :

33. The farmers hailed the decision by the
government on MSP :
(A) Critjcised
(B)A Apﬁuded
(C) Ignored °
(D) Discussed.

34. A rough weather welcomed us as soon

as we set foot on the Island :
(A), Tough
(B) Huﬁnid‘
(C), Stormy

/  £D) Pleasant.

In the following sentences Question Nos.
' 85 & 36 : Fill in the blank with a suitable
Preposition : -

35. Those wheo believe ................ God never

question his acts.
 (A) on
(B) aﬂ.er .

J-2325 Series-B

36.

(C) in
(D) at.
................ the years to come, he will be

facing more challenges to make both ends*

meet.
(A) For
(B3 Over
(C) In

(D) About.

In the following sentences Question Nos.
87 & 88 : Fill in the blank with a suitable
modal :

38.

(6)

. You ....cceeennnne. be punctual.

M) must
(B,) should
(C) could

(D) ought.

There are plenty of tomatoes in the
fridge. You ................
(A) can’t

(B) couldn’t

(C) wouldn’t

(D) needn’t.



In the following Question Nos. 39 & 40 :
Choose the option that best suits the
description given in the sentence :

39. That boy keeps himself very reserved

and conservative. He is an ...............
(A) Introspect
(B) Introvert
(C), Introspoken
(D) Introseptive.
40. The doctor who treats heart problems
(A) Cardiologist
(B) Dermatologist
(C) Orthodontist
(D), Heartologist.

In the Question  Nos.
41 & 42 the sentence has been fragmented as
a, b & c. One fragment has some linguistic

error. Locate the error. If there is no error,

following

your answer should be option d i.e. ‘No error’:

U

41. (a) Each player from the team/(b) are
desperate to deliver/(c) his best in the

game :
(A) a
(B) b
©) ¢

(D), No €error.

J-2325 Series-B
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42. (a) Kiran as well as Kamal/(b) are

leaving/(c) for Kolkata tomorrow.

(A) a

©) ¢
(D) No error.

In the following Question Nos. 43 to 45 are
. S e .

written with a missing or wrong article. Locate
the error and choose the suitable option to

correct the sentence :

43. Ramayan is a holy bobk of Hindus :
(A) A Ramayan |
(B), The Ramayan
(C) The Holy

(D) An holy.

44. Only best quality goods are sold in the

shops of Paragpur.

(A) a shops

(B) the Paragpur

(C) the best quality
(D), No change required.

P.T.0,



45. Memory loss is apparent Symptom of

Alzheimer’s disease :
(A) the loss

(B) an apparent

(C) the apparent
(D) an Alzheimer’s.

In the following Question Nos. 46 & 47.
Choose the correct article and fill in the blanks

to make sense :
46. Balbir is ................. honest man.
(A) the

(B), an

47. He spent ................ rupee or two

(C) an

(D) ,none.

J-2325 Series—B
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49.

50.

In the following Question Nos. 48 to 50.
Choose the correct preposition to make

sentence a meaningful one :

48. The baby feeds .................... milk.

(A) in
(B) with
(C) on

(D) to..

He jumped ......c..ccoeuuunnnnns the well.

(A) on

' (B) over

(C), in

(D), into.

Do not be proud ..................... your wealth.
(A) of |

(B) with

(C) by

(D) on.



51. (3)’2 & WA 2
(A) -6
m >
(B) 9
(C) -9
(D) H
3

52. 28x*+56x w1 WE B

xa

) —
(A 2

(B) 28 x*
(C) 56 x

(D) 2x3.

53. 8a,7a 3N —16a umm 2
(A) 31a
(B) 17 a
(€), -a
(D) 15 a.

54, 32 4 42 =

(C), 52
D) ¥ ¥ = &

J-2325 Series—B

(9)

MATHEMATICS
-2 ..
51. The value of (3) is :

(A) -6

1
B) =
(B) 9

(C) -9

(D) H
6

52. The value of 28x* + 56x is equal to :

x3

(A) o>

(B) 28x*
(C) 56 x
(D) 2x3.
53. Sum of 8a, 7a gnd — 16a is equal to :
| (A) 314
(B) 17 a
(C) -a

(D) 15 a.

54, 32 +42= ...

a) 72

(B) 122

(C) 52

(D) None of these. -
P.T.O.
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56. oo =g &« Y w wem ¥

58.

¥ fradt aed W
(A) 300
(B) 640
(C) 700
(D) 425.

A) 4
(B) 2
(C). 3
(D) 1.

(A b
B) x
© a
(D) n.
et & A H g

A), %nrzh

(B) %mz

4 4
(C)/ Em

(D) nrd.
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56.

57.

58.

55. A machine in a soft drink factory fills
840 bottles in six hours. How many
bottles will it fill in five hours ?

(A) 300
(B) 640
(C) 700
(D) 425.

What is the number of zeros of the

quadratic polynomial ?
A) 4

B) 2

< 3

D) 1.

What is the n'® term in an AP,

The formula of volume of a sphere :

(A) | %nrzh

(B) %nr2

© 2
3

(D) wrd.



. A% P(E)=005 % @ P(E)=?
(A) 1.05
B) 1
(©) 0
(D) 0.95.

0. Fa ¥ = @ sl den 2

4

25

(A)

(B) 3
2

€) V3
(D) 169.

x-5 x-3

F TA 2
3 53

61. THIHIO

(A) 3
B) 5
C) 8

(D)’ 15.

62. frafafes § @ I W TEE Il H

™ 2

(A), 70°, 110°
®) 80°, 10°,
() 45°, 45°
@) 90°, 100°.

J-2325 Series_B
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59.

60.

61.

62.

If P(E)=0.05 then, what is the value
of P(E') =2

(A) 105

(B) 1

< o

(D) 0.95.

Which of the following is an irrational
number ?

w &
25

B"E
()2 '

©) V3

(D) 169."

What is the solution of equation
x-5 _ x-3,
3 5
A) 3
B) 5
C) 8
(D) 15. 7

Which among the following forms a pair
of supplementary angles ?.

(A) 70°, 110°
(B) 80°, 10°
(C) 45°, 45°

(D) 90°, 100°.

P.T.O.



63. ﬁwwgmgﬁazm ?5,400"?

64.

65.

66.

e 42 & g3 § B TN T W
Fiforg:

(A) %920

(B) 800

(C) 4,500

(D) ¥5,000.

31860000000 # WAF ®Y § =qEq
Hife:

(A), 3186 x 107

(B) 3 x 1010

(C) 3.186 x 107

(D) 3.186 x 1010,

25 faurféat o @ 72% famnef whm o

=B B fra faenedf wfa ¥ =3 7
{

(a)/18
®) 75

© 7
(D) ¥ |/ R T

a7 R FR W o r204 B, @
5H IR T g wm wifw

(A) T420

(B)/ 210

(C) %580

'(D)sﬁﬂﬁgqg,
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65.
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(D) None of these.

I purchased a hair dryer for 5,400
including 8% VAT. Find the price before
VAT was added :

(A) T920

(B) ¥800

(C) 4,500

(D) 5,000.

6
31860000000, Express it in standard

form.

(A) 3186 x 107

(B) 3 x 1010

(C) 3.186 x 107
(D) 3.186 x 1019,

72% of 25 students are good iy
Mathematics. How many students are no
good in Mathematics ?

(A) 18
(B) 75
©) 7
(D) None of these.

If the cost of 7 m of cloth is ¥294, find ¢/
cost of 5 m of cloth :

(A) %420
(B) %210
(C) 5680



67- 7X—9=16 ﬁ A- LS %:

(A')/ 7
(B) x
© -9

(D) 16.

63. %- W O Y R
(A) 5
4

(B) 1
5

(C), -5
D) 378 |/ FE T8

69. & agqs &1 W fafen foge fawel s | 69.

W T

(A), FHEgds
(B) 3mga

(C) ¥R =qqw
(D) wam
0. W& (11) = W 2
(A
\)/121
(B) 33
©) 1331
D) 111,

-23%5 Series_B

67.

(13)

70.

In the equation 7x -9 = 1

is :
(A) 7
(B) x
C) -9
(D) 18.

1
Multiplicative inverse of 5 is :

(4) 5
B)
® 73
(C) -5

(D) None of these.

The name of quadrilateral
diagonals are equal :

(A) Rhombus
(B) Rectangle

(C) Parallelogram

(D) Kite.

The Cube of a number (11) is :

(A) 121
(B) 33
(C) 1331

D) I

6, the variable

whose

P.T.O.
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71. 2:3 H o &
(A) 50%

(B), 20%

(C) 66§%
(D) 30%.
72. m, -mn &R mop F TS $:
' (A) -m®n?%
(B) -m2n?p
(©)/ ~mn?p
() m3n?p.
73. (a-b)’ =1 " #:
a), a’-b’-3ab
B) ad+b®-3a’h+3ab?
©) a’-3a%b+3ab?_p?
3

(D) a®-b®-ab(a+b).

J-2325 Series-B
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71.

72.

78.

Percentage of 2:3 1s :

A) 50%

(B) 20%

2
66-%
(©) 3

(D) 30%.

Product of m, -mn, and mnp is equal

to:

(A) —manzp
(B) -m?n?p
© —mnzp
(D) m3n?p.

The value of (a-b)° is :

(A) aa-l;a-3ab

B) a’+b®-3a%b+3gp?
(€) a’®-3a’b+3ab? -2

@) a’ -b? —ab(a +b).



74. g & 74. The areq of Trapezium is :
1 sxw @ Lup
(B) AU x Je (B) bxh
1 h . 1 .
(€) gxhx (VA qanell =1 a) (€) $xhx (Sum of Parallel sides)
D) 2 U + b, ~ (D) 2 (I + b).
75. A% THAHS & fawoi g cﬁ 3R 4 cm | 79 If diagonals of rhombus are 8 cm and
%, T TWH AARA ®: 4 cm, then area is equal to :
(A) 12 cm? : (A) 12 cm?
(B) 16 cm? | (B) 16 cm?
(€)/32 cm? (C) 32 cm?
) 64 cm?. (D) 64, e
\
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76. “mgm W R FE am

fera?

(4) wrd faet
(B) @ foA
(C), wfé Twfe
(D) wig FoI

77. WSl % MUR W Ted WRa w1 weem | 77

g %:

(A) stifewm

(B) &
(C‘)/awm =_Y
(D) 9frem sme

78 FHE-W IO A T@ oA R e [

A @2
(Agkmtﬁa
(B) i
(cg/éﬂuﬁa
(D) e

9. “E A g Wen, 3w

MR [HE D dEw wH )
(A) wf@ 31
(B), 9797 wawn
(C) s, g
(D), &=t
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79.

GENERAL KNOWLEDGE

76. Who implemented the “Vernacular Preg,

Act” ?

(A) Lord Lytton
(B5 Lord Ripon
(C) Lord Dufferin

(D) Lord Curzon.

. The First State of India formed on the

Basis of Language is :
(A) Odisha

(B) Kerala

(€) "Andhra Pradesh

(D) West Bengal.

b

. Which Instrument is used to measur

Air pressure ?
(A) Aerometer
(B) Ammeter
(C)-Barometer

(D) Barograph.

)
- ),

Who is the Author of the bogk “Long W;
to Freedom, the struggle in my Life”’

(A) Ka.pil Dev

(B) Nelson Mandela
(C) M.F. Hussain
(D) Madonna.



81.

82.

 83.

m‘iﬂ?“m"qﬁ'ﬁaﬁmwmm
&

(A), HieTur

(B) ST

(C)/fsrarfaas

(D) X S| -
varg” frw frd W aeh 42
(A) Tt

(B) K‘ﬂ'rgt

(), fF=ik

80.

81.

82.

1 83.

(17)

“Mata Basant” is the Popular Surname
of :

(A) Sarojini Naidu
(B) Annie Besant

(C) Lakshmi Bai

(D) Lata Mangeshkar.

What is the ancient “Mainak” mountain

now called ?
(A) bhauladhar
(B) Zanskar
(C) Shivalik

(D) Pir Panjal.

“Kahluri” is the dialect of which district ?

(A) Mandi

| (B) Hamirpur

(C) Kinnaur | {

(D) Bilaspur. “ |

Where is “Rorik (Roerich) Art Galjery”

located ?

(A) Naggar
(B) Arki _
(C) Andreta
(D) ~Ci1amba.

P.T.O.



84. Fearael Ru o4 e ferw T
@) 35 Fead, 1971 %
B) 15 add, 1948 3.
(C) 26 w=adt, 1952 X.

(Dy 1 Taw=R, 1966 3.1

85. femram ¥ wWer M W e ww g

ot
A) 1969 %.
(B) 1970 §.
(©) 1971 %

(D) 1972 3.1

86.
2?2

A) fE=k

(B) HITST

(C)/wmeYa-wdifa

~(D) Tt

87.
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85.

86.

87.

84. When did Himachal Pradesh becop,

Greater Himachal ?

(A) 25 January, 1971 A.D.
(B) 15 April, 1948 A.D.

(C) 26 January, 1952 A.D. ~

(D) 1 November, 1966 A.D. ~."'" _
&

When was the Tourism Corporation
»established in Himachal ?

(A) 1969 A.D.

(B) 1970 A.D.

(C) 1971 A.D.

- (D) 1972 A.D.

Where is “Pin Valley” National Par
located ?

(A) Kinnaur 9¢
(B) Kangra .

(C) Lahaul Spiti

(D) Chamba.

“Kathadi” is famous Folk dance
whichplace ? |

(&) Mandi gy
(B) Chamba
(C) Kullu

(D) Sirmaur. | (

I-232
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90.

91.
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At & faff@ 22

A) e A=, Aot
(B) darret Af<x, A
¢) fefern =af<x, waTeit
(D) Hi-Trear, wfa

w 2?2

(4), 9 (Fm=)

(B) Huet
(Q}ﬁmvm

(D) ¥® | HE &

L T

aN wfag 22

(A) dfea wgH 3T
(B) €& amﬁ ™
(C), va’a fatm
(D) faw v

A § fgw<y w1 gfafifa S er
(A) fwfe |

(B) ¥eww

(@ TS

(D) sk

88.

89.

91.

(19)

Which of the following Temple is built
in Pagoda style ?

(A) Bhootnath Temple, Mandi

(B) Bhimakali Temple, Sarahan

(C) Hidimba Temple, Manali

(D) Key-Gompa, Spiti.

Where is Navy’s N.C.C. branch in
Himachal ?

(A) Pong (Kangra)

(B) Mandi

(C) Bilaspur

(D) None of these

Who is famous by name “Kaviraj” in
Himachal Pradesh ? N

(A) Pandit Padam Dev

(B) Baba Kanshi Ram

(C) Jaidev Kiran

(D) Vijay Sharma.

Who was the representative of Alexander
in India ?

(A) Philippe

(B) Seleucus

(C) Megasthenes

(D) Porus.

P.T.O.



92. mu@*ﬁ"ﬁ e R

93.

94.

9s.

@2

(A) weren el

(B) wal.

(C) VAR W TE.

(D) €fFn =% =S

frm e ©R w9 T gan W
A) 1769 %
(B) 17380 %.
(C) 1765 3.

(D) 1784 .

STAfd #1 e feam w22
(A), W= ¢
(B) § ad
(C) W T¢

(D) ®: Td)|

R e fag el ow @
(A) e @Ee

(B) =T i«

(C) fTeR Hidt

(D) fewfaey)
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92. Who

94.

95.

founded Indian Nationy
Congress ?

(A) Mahatma Gandhi

(B) A.O. Hume

(C) Jawaharlal Nehru

(D) Bankim Chandra Chatterjee.

When was Pitt’s India Act passed ?
(A) 1769 A.D.
(B) 1780 A.D.
(C) 1765 A.D.

(D) 1784 A.D.

What is the tenure of Vice-President

(A) Five Years
(B) Two Years
(C) Four Years

(D) Six Years.

I
Which is the ‘Westernmost Point’ ¢
India ?

(A) India Point
(B) Indira Call
(C) Guhar Moti
(D) Kibithu.



qqp 9@ 8 TIE F St fwn W @,
qgf%rﬂt?:

(Ayauﬁa»'m

96.

By 5T
(Q T

(D) 99T

97. ¥H THE T oy fawmoy @ et 22

[ 98.

R 4 yeet (yew) siwifie Afa wa
W #

Woag .

B 1950 ¢

99.

© 1955 ¢

(D) 1954 %

9232 Series-B

(21)

96.

97.

98.

99,

Salt is separated from Sea water by the
method -

(A) EvaPoratiorx
(B) Liquefaction
(C) Strain

(D) Decant.

Which Virus causes Smallpox ?
(A) Arbovirus

(B) Varicella Virus

(C) Variola Virus

(D) Rhabdovirus.

Who wrote the book “Poverty and Un-

Lritish rule in India” ?
(A) Adam Smith

(B) Marshall

(C) Louis

(D) Dadabhai Naoroji.

When was the First Industrial Policy

announced in India ?
(A) 1948 A.D.
(B) 1950 A.D.
(C) 1952 A.D.

(D) 1954 A.D.

P.T.O.



100. ‘Ui wET =" %t tomemr = | 100. When was the "“National

g3? Mission” established ? b
(A) 1980 & (A) 1980 A.D. y
(B) 1988 % v | (B) 1988 A.D. -
©) 199 %. (C) 1990 A.D.

(D) 1991 ¥.|

(D) 1991 A.D. S




